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ikl By Yt HHY=A HYZA Chiefeld Z
1 XgH|3H | 2014-03-03 [ZZAHH| X|S(REH7]2 AR X 2E) 50,000 pE =5
2 THAH|DF | 2014-03-03 [HzMU WEXTH S27Y shH ETBE slo742 b XS 38,000 ElAtQ| 3 FtE
3 THGH|oF [ 2014-03-07 [AlS|@ oo Holot St o AAHE 3|Q7H%| H|E X|= 83,900 HEEQ| 4 Ite
4 | THHH|Db | 2014-03-10 [HERS K| shAl =7 L pra| el chet 3o 7hAH ] X|E 176,000 Al 6 FIE
5 L3 | 2014-03-11 | 2B FER2 7|BFAIY Ql=01A 2|o| JHE[H| & K= 83,000 el 7 7tE
6 - H| Db [ 2014-03-13 [E9/2 HEF HHIAFY SHE s|oj2ta =g ZaH|g K= 127,000 IHEEQ| 4 Hj=
7 T{EH|DF | 2014-03-13 [SZAIEA S22 A 2@ 22 23| 14 Bl X|ZE 69,000 apEtel 3 3=
8 gH| ot [ 2014-03-13 (=292 179 238 olo|atd ZHE 3| & X5 56,000 IHEFQ| 4 =
9 XA | 2014-03-14 [=AIMEH ST (3t X3 WY HERY 3oHE HI XS 110,000 IHEQ| 3 FtE
10 pNEsi-Iini 2014-03-17 |+#Y94 sixjof = zte|gtsr ZE 7Heg| 7| H|8 X|= 34,000 HEEQ| 4 tE
11 | REH|nt | 2014-03-18 |&AH47Y MYHIETA 2 HE HAE 2HEoH| 8 X|& 16,000 IHEQ| 1 H{=
12 | M-t [ 2014-03-19 |20133|A/HE ZAAE XtE HE 39| JHAH|IE X2 46,500 ARl 5 3=
13 | ZH™EH|DF | 2014-03-20 (o TASHA U] 40| M2 XtB HE 2P HG XE 28,000 IHEFQ| 4 1=
14 | xHEH|3b | 2014-03-24 (SM379 PMEAAH HE 3971% HIE X|ZE 19,000 IR 2 3=
15 | ZH™EH|DF | 2014-03-25 |2H| X TTHAE M HH 9 of A3 7HES| HE X2 143,500 opEkel 7 7t
16 | XEH|ot | 2014-03-26 |2EREIRU S=7|SnE2std HE 39742 H|E X|&= 88,000 oHEEQ| 4 =
17 | M ™H|3F | 2014-03-27 |2%FEt2 S8 RALSAIY E34 YARE 39702 H|g X% 35,000 IHEe| 3 H=
18 | M7FH|ak [ 2014-03-31 |AZAMH| X|SH(FE7|2 FRAX &) 50,000 /¥ =




